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RD DK (ST, A0, B 15y, C#145720%)

(1) AD12%
= A x

3) AD120%

=A x
(5) Ax14
=AD HE L

(7) Ao3HE24L
= A x

(9)  AD200%HL
=A x

(2) A x085
—AD %

(4) AD5%MHL
=A x

6) AD2¥5E
= A X

8 A x05
=AD %5 =

(10) A D20%EEL D 2EH| =
=A x
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KD ZIOX. (SH35, A5, Bik17320%, C#1450% )

(1) AD9EISSH 2 ADTKB%

= A x (/gL ) = A x (3%7C)
3) AD5%B| X (4) Ax1.1
(5) AD2#E 44558 % 6) Ax5

= A x =AD %4 L
(7))  AD20 %MWL (8) A x0.38

= A x =AD %H| =
(9)  AD30%EL D10 %8| = (10) A D50%8 XD 20 %8| =

— A x =AD HH| =
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RETFARM BEI& %, & 01 HBRERES

RD DK (ST, A0, B 15y, C#145720%)
* STOEIFEE 1
(1) AD12% (2) A x085
= A x| 0.12 —AD| 8 |%
12 =100 = 0.12 0.85 x 100 = 85
3) AD120% 4 AD5%HL
=A x| 1.2 = A x| 1.05
120 =100 = 1.2 14+5=100=1.05
(5) Ax14 (6) AoD24Ey =
=AD| 4 |HERL = A x| 0.8
(14—-1)x10=4 1-2+-10=0..8
(7)  AD3HE 24k (8) A x05
= A x| 1.32 —AD| 50 | %8| =
14+32=100=1.32 (1—0.5) x 100 = 0.5
(9) A D200 %L (10)  AD20 %L D2%I5] =
—A x| 3 — A x| 0.96
200 %34 L & 1, 1.2 x 0.8 = 0.96

TLOm LI L T2 52 L.
DED, 1+2=31%
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KD ZIOX. (SH35, A5, Bik17320%, C#1450% )

(1) AD9EISSH (2) ADT%
= A x| 0.98 | (MET) —ax| 2| e
4
(3) AD5H%H[xE (4) Ax11
=A x| 0.95 =AOD| 1 |HHL
(5) A®D24E 4458 = 6) Ax5
=A x| 0.76 =AD| 400 | %rEL
(7)) AD20 %L (8) A x0.38
= A x| 1.2 —AD| 62 | %5 =
(9)  AD30%MWL D10 %58 = (10) A D50%8 2D 20 %8| =
= A x| 1.17 =AD| 6 |#H5E
1.3x0.9=1.17 0.5x 0.8 =0.4
INiE, 1-04=0651F7XH5,
6 El5] =

© Bef - BEE L &7 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

